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0002 1, 13, &% 0003 1, 2, 4, 8, 16, EfA% 0059 @ 0060 G 0061 10
0004 1, 19, A% 0005 1, 3, 11, 33, A4 0062 2 0063 @

0006 1,7, 49, s 0007 1, 67, & 0064 (1)7 (2)11 (3)8, 9, 10, 11 0065 @, @
0008 1, 3,29, 87, &A% 0009 1,7, 13,91, gad 0066 8 0067 @ 0068 G

0010 1, 101, Az 0011 17, 29, 73 0069 a=5, b=6 0070 3 0071
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7 T 0130 200 0131 16 0132 6 0133 160
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0171 2,2, 3,5,2,3,7, 2,3,5,7, 630, 2, 15, 21, 5, 7,
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0174 2x3 x5 %7 0175 2°x3*x5’
0176 40 0177 42 0178 220 0179 210
0180 180 0181 900
0182 39, i3, 2, 3,2, 7, 4
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0316 6,6,6,6 0317 99 91 g
0318 4 0319 20 0320 0 0321 6.5
0322 7 0323 55 0324 12 0325 7
0326 59 0327 01 0328 2> 0329 +
1 1
0330 9, —9 0331 3, —+
0332 4.1, —4.1 0333 0 0334 g
0335 —2.8 0336 > 0337 < 0338 <
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0342 < 0343 < 0344 < 0345 >
0346 < 0347 > 0348 < 0349 <
0350 > 0351 4<z<9
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0446 4 0447 13 0448 —10 0449
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0474 —210 0475 — 0476 9 0477
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0708 25 0709 30z 0710 16z—40

0711 —18a+3 0712 6b+5

0713 —352—10 0714 4y—1 0715 5a+2
0716 3z—2 0717 152—10 0718 9y—3
0719 —6b+9 0720 3x%t 6z

0721 —20'mt L’ 0722 829 —4z, 7yt —y
0723 9a 0724 1.3r 0725 i—éa 0726 —9b
0727 —10z—4 0728 %H%

0729 3x—5 0730 —7a+12 0731 4x—20
0732 9x—2 0733 —15y+15 0734 —4b—38
0735 z—21 0736 6y—5

0737 ©,® 0738 ® 0739 ©
0740 ® 0741 @ 0742 ® 0743 @
0744 ® 0745 @, ® 0746 ® 0747 @
0748 @, ® 0749 0750 %(cﬁ—b)k

0751 (1) (16a+16b+2ab) cm® (2) 8ab cm®

0752 95(90—zx) m

0753 (15000—1200a— 25005 )% 0754 ®
0755 ® 0756 ( a+eoob)E|

0757 (12000+4y+22)% 0758 @ 0759 ), ©
0760 (1) 90z km (2) (430—90z) km 0761 ®
0762 @ 0763 (1)3zg (2) 52% 0764 —3
0765 ® 0766 5 0767 @ 0768 @
0769 12 0770 ® 0771 2 0772 ®
0773 ® 0774 63kg 0775 69.4

0776 (1) =% 340m (2) 1700 m

0777 (1) (20000—7202)% (2) 12800

0778 (1)0.23kcm (2) 36.8 cm

0779 (1)80—4x (2)56 0780 (1)3z (2)24

0781 ® 0782 @, ® 0783 1 0784 @
0785 @ 0786 @, ® 0787 @ 0788 —3
0789 @ 0790 40 0791 % 0792 ®
0793 (6 —24) cm® 0794 ® 0795 ®
0796 L} 3z°, xy2t —4xy 0797 3
0798 48x—16 0799 ® 0800 3
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0834 152-+24 0835 5 0836 9
0837 @ 0838 15x+22
| L] errzsel go
At 0839 O 0840 x 0841 O
0842 x 0843 5x+2=13
0844 800x+y=15000 0845 3z=20
0846 roizt  msiolzt  SwelY AN

—1 4x(—=1)—3=—T7 1 A3
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0862 2xr=—1-5 0863 3xr—4x=5
0864 x+6x=8 0865 1—7=6x+x
0866 X 0867 X 0868 O 0869 x
0870 X 0871 O 0872 O 0873 z=-3
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0878 z=—1 0879 x=—4 0880 z=—2 0881 z=3
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0895 @ 089 © 0897 @,®
0898 @ 0899 ® 0900 2(x+8)=5z—7
0901 ® 0902 ® 0903 z=—1 0904 @
0905 (1), © 0906 ® 0907 ® 0908 ®
0909 —3 0910 ® 0911 O, L), @

0912 @ 0913 ® 0914 @ 0915 @
0916 ® 0917 ) —2x W5 @12 @2 @6
0918 @ 0919 @ 0920 4 0921 ®, @
0922 @ 0923 a#—3 0924 (), L) 0925 @
0926 @ 0927 —26 0928 @ 0929 z=3
0930 x=-2 0931 z=—50932 @ 0933 @
0934 z=—15 0935 @ 0936 —2
0937 ® 0938 @ 0939 @ 0940 5
0941 ® 0942 —10 0943 —% 0944 ©
0945 @ 0946 2

0947 ©,® 0948 @ 0949 @
0950 @ 0951 @,® 0952 @ 0953 @
0954 ® 0955 @ 0956 3 0957 —
0958 —9 0959 —10 0960 6 0961 6
0962 —13 0963 3 0964 @ 0965 —
0966 —2
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0968 { Yx+(x+7)=45 (2)19
0969 (1) 5000—6002=200 (2)8
0970 2(x—5)=x+9, z=19
0971 2(x+12)=38, =7

0973 30 36, 36
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0974 (1) 5 +35=2 (2) % km
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T 100
6 10
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0972 40—6x=4, x=6
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x (4504+z) (2)20g

-

0977 ® 0978 ®
0979 (1)3 (2)4 0980 @ 0981 @
0982 (1) x—2, z+2 (2) (x—2)+z+(x+2)=

(3) 23, 25, 27
0983 @ 0984 48 0985 @ 0986 @
0987 28 0988 (1) 2z+5 (2) 72 0989 @
0990 ® 0991 7 0992 @ 0993 8TA|
0994 ® 0995 @ 0996 13%& 0997 @
0998 84 0999 394 1000 @ 1001 7cm
1002 6cm 1003 ® 1004 24cm 1005 @
1006 800 1007 @ 1008 20000981009 ®

1010 (1)(593 2000) r=3700 (2)22700%

10

1011 70008% 1012 168 1013 @ 1014 200
1015 1200 1016 64 1017 ® 1018 12
1019 @

1020 (1) 7z+13=10(x—2)+3 (2)10 (3)83

1021 %km 1022 (), L), ©

1023 ® 1024 6km 1025 302 1026 @
1027 5km 1028 ® 1029 ® 1030 3A| 505
1031 2250 m 1032 20& 1033 25%

1034 (1) 80x+702x=1800
1035 92 1036 ®

(2) 1282 (3) 960 m

1037 150m 1038 @

1039 200m 1040 @ 1041 ® 1042 180¢g
1043 @ 1044 150g 1045 40g 1046 @
1047 @ 1048 6 1049 240g 1050 @
1051 12

1052 () A ¢, B 15 (@) 55 x2+(+45 =1
1053 @ 1054 5AIzt

1055 ® 1056 6 1057 2
1058 137#® 1059 @ 1060 20 1061 @
1062 67 1063 ® 1064 2km 1065 ®
1066 @ 1067 @ 1068 5% 1069 86
1070 456 1071 175g 1072 30000

1073 20%, 21, 272, 282 1074 @

1075 Al 2ile
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mﬂ.&gaﬂ}zaﬂg 1141 ® 142 @ 1143 12
1144 ©,® 1145 ® 1146 @
A = 1077 A(—4),B(—1),C(%), D(3) 1147 A—L), B—@,C—0) 1148 16
1149 —8 1150 14 1151 (1) 202 (2) 1 km
[ 18] A B
B 1152 @ 1153 @ 1154 ©
1079 P(-3, 2), Q(—1, —3), R(3, —2), S(3, 3)
ki
1080 |} ik
1081 1082 B(1, 0) 1083 O(0, 0)
1084 Ho|AE 1IHEO|HE yFHHO|HS A m |22} Hid|]|
(4, 6) + + AnAEw
(=4.6) - + Aed A= 1155 O 1156 X 1157 O
(—4,-6) - — A3AEa
7 o . s EyyT 1158 O 1159 x 1160 x
oo ooy M61 , "1 23 4
1085 R4 AH2T 1086 R|1AHET » 500 1000 [ 1500 [ 2000
1087 MsA=H 1088 M4 A=H 1162 Fulasict. 1163 y=500z
1089 RI2AH2T 1090 H|3AH2S 1164 XH|HBHC}, 1165 y=dz
1091 (), © 1092 ©, @ 1093 (@), W 1166 , 51l o 11 2 y
1094 o|stm oamO|B5 yIEO|HS  AEH v —4|-2]0 |2 :
(—a, b) - + A2AEw Y, OENE
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1095 50m 1096 200m 1097 602 1098 10 v 6 | 3]0 [ =8]76 ’
1099 60 1100 &7t RS

1168 HMI1AREH, M3ARRE 1169 M2ZALEH, M4AEH
1170 X 171 O 1172 O 1173 X
M74 4 1175 —1 M76 x 1M77 %
1178 x 1179 x 1180 O 1181 O

1101 -1 1102 ® 1103 B(2) 82 2 1234
1104 C(—1) 1105 ©® y 30 [10]10] B
1106 (—2, —3), (—2,3), (2, —3), (2, 3) 1183 |25t}

1107 7 1108 @ 1109 ® 1110 @

1111 A(—4,6), B(—1, 4), C(—3, —2), D(3, 0), E(2, 3) 1185 IS,

M2 ® 1M3® 114 —28 1115 ® 187  , 3T 2T
M6 ® 11715 1118 3® 1119 10 v 2| -3 —6
120 & 121 0,0 112 ® 1123 ®

1124 H1AEH 1125 @ 1126 ®

1127 ®M1AH2S 1128 @ 1129 @ 188, 2]
1130 HI3AHEH 1131 @ 132 ® vy 1124

1133 ® 1134 ® 1135 72 1136 ®
1137 242 1138 @ 1139 © 1140 ®
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